#### THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

## MEETING OF THE BOARD OF EDUCATION JUNE 18, 2014

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 18, 2014 at 5:00 p.m.

MffindyeKepressenPresident William F. Connors Jr., Vice President Deanna Bavlnka, Trustee Irene Gische, Trustee Jonathan Kornreich, Trustee

MgarbGestalassen,tTrustee Susanne A. Mendelson, Trustee

**Cherydreedit**ich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources Kathleen Sampogna, District Clerk Anthony Gabriele, Student Representative to the Board Visitors

**DAIMerFigan** called the meeting to order at 5:00 p.m. ORDER

**MOMERINTO** Mrs. Gische, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board **EXECUTINE** into Executive Session in accordance with Open Meeting Law to discuss **SESSION** tigation.

**RECOREMENT** RECOREMENTE Convened into open session at 7:35 p.m. Anthony Gabriele led the pledge of SESSION

Repartment Repartment

THE MEETING

AGENDAnstructional Personnel Schedules: Cover Page and Schedule A.7 Non-Instructional Schedules: Schedules B.17a and B.17b

Addenda:

Instructional Personnel Schedule: Schedule A.2 Approval of Stipulation of Settlement

**STEUDEINTE AND**Mr. Vizzo recognized students from Gelinas and Murphy who participated in **STIAFE** Congress.

RECOGNITION

Mr. Biscari recognized Minnesauke's social worker Leia Woodruff for her work with the Minnesauke "STARS" program, which received recognition from the Inter Faith Anti-Bias Task Force.

Steve Rogers and John Williams recognized students who were part of the Robotics Club team that came in first place at the BotBall competition.

**NewBoardnreed** gnized newly tenured staff members and there was a brief recess for **StaffsRecords** ition

## REPORTS

**Studienty** Gabriele reported on recent and upcoming student events. Representative Report

**PIGBLOG**iesel, Sarah Gutman, Patrick Fogarty, Fred Gutman and Kim McKown spoke regarding **PARTICIPACEION** at Gelinas and the reassignment of Mr. Hayes.

## MINUTES AND BIDS

Minutes of June 4, 2014

Extension of Bids 2311 - Maintenance & Preventive Maintenance of Folding Partitions, 2313 - Rental & Service of Treated Dust Mops, 2238 – Automotive Repairs, Parts/Supplies, 2339 – Cesspool Cleaning & Replacement, 2343 – Carpet Cleaning, and 2344 – Integrated Pest Management

#### Bids

B14-15-001 – Pizza, B14-15-002 – Food Service Equipment Repair, B14-15-004 – Produce, and B14-15-005 – Commodity Warehouse Pick Up

ITEMS FOR BOARD DISCUSSION

INFORMATION ITEMS TO THE BOARD

Three Village Logo

Curriculum Development Project Proposals 2014-15

ITEMS FOR BOARD ACTION

Claim's Auditor's Report – March through April 2014

District Treasurer's Report – March through April 2014

Financial Reports – March through April 2014

Extraclassroom Activity Treasurers' Reports – March through April 2014 Be it RESOLVED that the Board of Education accept the minutes of its June 4, 2014 meeting.

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board approved the minutes as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award an extension period of one year to the current successful vendors for the listed bids.

2311 - Maintenance & Preventive Maintenance of Folding Partitions

- 2313 Rental & Service of Treated Dust Mops
- 2238 Automotive Repairs, Parts/Supplies
- 2339 Cesspool Cleaning & Repairs
- 2341 Glass Replacement
- 2343 Carpet Cleaning
- 2344 Integrated Pest Management

On motion by Mr. Kornreich, seconded by Ms. Bavlnka, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award bid number B14-15-002, B14-15-004, and B14-15-005, as presented, and reject bid number B14-15-001 with only one participant bidder due to the large increase in price from the previous year.

On motion by Ms. Germano, seconded by Ms. Bavlnka, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

Mrs. Pedisich thanked Mr. Colletti and Mr. Harrington for their service as interim principals during the 2013-14 school year.

Alan Baum and Jennifer Trettner discussed work being done on the design of a new district logo.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the following curriculum projects for 2014-2015 at the rate of pay determined with the 2014-2105 contract.

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board approved the resolution as presented

Mr. Carlson presented the Claim's Auditor's Report.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Mr. Carlson presented the District Treasurer's Report.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Mr. Carlson presented the Financial Reports.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Mr. Carlson presented the Extraclassroom Activity Treasurers' Reports.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Transfer of Funds (Under \$10,000) – March through April 2014

Approval of Budgetary Transfers (Over \$10,000) – March through April 2014

Acceptance of Donations

Mr. Carlson presented the Transfer of Funds (Under \$10,000) Report.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Mr. Carlson presented the Approval of Budgetary Transfers (Over \$10,000) Report.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following items:

Ten (10) free registrations to the five elementary schools donated by the Three Village Baseball & Softball League.

A batting cage at RC Murphy JHS donated by the Three Village Baseball & Softball League.

A batting cage at PJ Gelinas JHS donated by the Three Village Baseball & Softball League.

Two \$500 scholarships to be awarded to two Ward Melville HS Seniors donated by the Three Village Baseball & Softball League.

A check in the amount of \$5,000.00 donated to the Ward Melville Scholarship Fund by WM NC-Philanthropic North in the name of *"Strength in Character and Academic Excellence"*.

The following donations to the Jody Eff Scholarship Fund:

- A check in the amount of \$50.00 donated by Joyce Hilgeman
- A check in the amount of \$100.00 donated by Carol Burns
- A check in the amount of \$100.00 donated by Janet Von Bargen

A check in the amount of \$1,500.00 donated by the Nassakeag School PTA to the Physical Education Department at Nassakeag Elementary School for the purchase of gym equipment that can be used by the children during "gym time".

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Non-Resident Tuition Rates Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education establish the following estimated tuition billing rates for the 2013-2014 and the actual tuition rates for 2012-2013 school years for each non-resident student attending school in the Three Village Central School District.

## 2013-2014 Estimated Tuition Billing Rates

		<u>Special Educati</u>	on Students
Grades K – 6	\$ 12,284	Grades K – 6	\$ 65,264
Grades 7 – 12	\$ 13,339	Grades 7 – 12	\$ 66,319
		2012-2013 Actual Tuition Rates	
		<u>Special Educ</u>	ation Students
Grades K – 6	\$ 11,598	Grades K – 6	\$ 58,554
Grades 7 – 12	\$ 12,889	Grades 7 – 12	\$ 59,845

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the attached resolution authorizing cooperative bids for supplies, materials, equipment and services for the 2014-15 school year be approved and that the President of the Board of Education be authorized to execute same.

WHEREAS, it would be in the interest of the Three Village Central School District to participate in cooperative bids with the attached list of vendors and,

Authorization to Participate in Cooperative Bids with TCPN for Supplies, Materials, Equipment and Services

	Minutes of June 18, 2014
	WHEREAS, it is the desire of the Three Village Central School District to participate in cooperative bids for the purchase of various supplies, materials, equipment and services as TCPN, acting as the Lead Agency, as provided by General Municipal Law Section 119-0 and,
	WHEREAS, each Board retains the legal authority to contract with the successful vendor(s) and shall not be bound by purchase contracts or other agreements made by the other Board(s), therefore, be it
	RESOLVED, that the Board Of Education of the Three Village Central School District hereby agrees to participate with TCPN Cooperative Bids.
	On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board accepted the report as presented.
Approval of Health and Welfare Services Contracts	Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for health and welfare services with the following school districts.
Contracts	<ul> <li>East Ramapo CSD</li> <li>Commack UFSD</li> <li>Port Jefferson UFSD</li> <li>Manhasset Public Schools</li> <li>1 Student @</li> <li>689.64 = \$ 689.64</li> <li>994.16 = \$4,970.80</li> <li>784.14 = \$ 784.14</li> <li>2 Students@</li> <li>1, 022.69 = \$2,045.38</li> </ul>
	On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board accepted the report as presented.
Authorization for 2014-2015 Tax Anticipation Note Borrowing	Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education adopt the attached resolution and authorize the issuance of up to \$26,000,000 aggregate principal amount of tax anticipation notes by the Three Village Central School District, pursuant to the New York State Local Finance Law, in anticipation of the collection of real estate taxes to be levied in and for the school district for its fiscal year beginning July 1, 2014.
	TAX ANTICIPATION NOTE RESOLUTION OF THREE VILLAGE CENTRAL SCHOOL DISTRICT, NEW YORK, ADOPTED JUNE 18, 2014, AUTHORIZING THE ISSUANCE OF NOT TO EXCEED \$26,000,000 TAX ANTICIPATION NOTES IN ANTICIPATION OF THE

RESOLVED by The Board Of Education of Three Village Central School District, in the County Of Suffolk, New York, as follows:

RECEIPT OF TAXES TO BE LEVIED FOR THE FISCAL YEAR ENDING JUNE 30, 2015

Section 1. Tax Anticipation Notes (herein called "Notes") of Three Village Central School District, in the County of Suffolk, New York (herein called "District"), in the principal amount of not to exceed \$26,000,000, and any notes in renewal thereof, are hereby authorized to be issued pursuant to the provisions of Sections 24.00 and 39.00 of the Local Finance Law, constituting Chapter 33-a of the Consolidated Laws of the State of New York (herein called "Law").

Section 2. The following additional matters are hereby determined and declared:

(a) The Notes shall be issued in anticipation of the collection of real estate taxes to be levied for school purposes for the fiscal year commencing July 1, 2014 and ending June 30, 2015, and the proceeds of the Notes shall be used only for the purposes for which said taxes are levied.

(b) The Notes shall mature within the period of one year from the date of their issuance.

(c) The Notes are not issued in renewal of other notes.

(d) The total amount of such taxes remains uncollected at the date of adoption of this resolution.

Section 3. The Notes hereby authorized shall contain the recital of validity prescribed by Section 52.00 of the Law and shall be general obligations of the District, and the faith and credit of the District are hereby pledged to the punctual payment of the principal of and interest

on the Notes and unless the Notes are otherwise paid or payment provided for, an amount sufficient for such payment shall be inserted in the budget of the District and a tax sufficient to provide for the payment thereof shall be levied and collected.

Section 4. Subject to the provisions of this resolution and the Law, and pursuant to Sections 50.00, 56.00, 60.00 and 61.00 of the Law, the power to sell and issue the Notes authorized pursuant hereto, or any renewals thereof, and to determine the terms, form and contents, including the manner of execution, of such Notes, and to execute arbitrage certifications relative thereto, is hereby delegated to the President of the Board of Education, the chief fiscal officer of the District.

Section 5. The Notes shall be executed in the name of the District by the manual signature of the President of the Board of Education, the Vice President of the Board of Education, the District Treasurer, the District Clerk, or such other officer of the District as shall be designated by the chief fiscal officer of the District, and shall have the corporate seal of the District impressed or imprinted thereon which corporate seal may be attested by the manual signature of the District Clerk.

Section 6. This resolution shall take effect immediately.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Declaration of Surplus Textbooks

Approval of

Contracts with Outside Service Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

<u>Title</u>	Publisher/ Date of Publication	<u>ISBN</u>	<u>No. of</u> <u>Copies</u>
Literature: An Introduction to Fiction, Poetry, and Drama	Harper Collins/1995	0-673-52280-6	90
English Grammar and Composition 3 <sup>rd</sup> Course	Harcourt Brace/1977	0-15-311902-0	169
English Grammar and Composition 9	Harcourt Brace/1969	0-15-311-970-5	69
English Grammar and Composition 7	Harcourt Brace/1965	0-15-331-970-4	125
Heath Grammar & Composition	DC Heath & Company/1990	0-669-23502-4	65
Adventures in Reading	Harcourt Brace/1979	015-335120-9	23
Progress Coach 8	Triump Learning/2009	1-60471-3267-42	42
NYS Coach 7	Triump Learning/2010	1-60471-741-6	30
Comprehensive Reading Assessment	Options/2010	Catalog #OP2608	25

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Declaration of Surplus Equipment	Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the item listed below be declared surplus and disposed of in the best interest of the Three Village Central School District:						
		Item Description	Model	<u>Serial #</u>	<u>Three</u> Village #	<u>Condition</u>	
		OfficeJet All-in- one Printer/Fax	6110	MY41AH60Q9	n/a	Poor	

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 5-0-0 vote, the Board accepted the report as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contracts* for special education services with the following providers:

Providers for Special Education Services	A Plus All Subjects Tutor	ing Long Island Developmental Consulting		
Services	Acoustic Achievements Bridges to Tomorrow Career & Employment Op Christian Nursing Registr			
	Mary Coonerty	Leslie Packer, Ph.D		
	DaVinci Education & Res	earch Reach for the Stars Tutoring		
	Developmental Disabilitie	s Institute David Seyfert		
	Family Residences and Es Enterprises, Inc.(F.R.E.E.	)		
	Rosemary Forlini	Tender Age P.T., Inc.		
	On motion by Mr. Kornreich, secon Board accepted the report as preser	nded by Mrs. Gische, and carried by a 5-0-0 vote, the nted.		
Approval of Special Education Tuition Contract	Education approve a contract for in	rintendent of Schools be it RESOLVED that the Board of struction/services to be provided by the school listed below strict students for the 2013-2014 and the 2014-2015 school		
	ASCENT: A School for I	ndividuals with Autism		
	On motion by Mr. Kornreich, secon accepted the report as presented.	nded by Mrs. Gische, and carried by a 5-0-0 vote, the Board		
Approve Renewal of License Agreement with American Society of Composers,	Board of Education approve the ren	uperintendent of Schools be it RESOLVED that the newal of the license agreement with the American I Publishers at annual fee of \$330.00 for the period June 30, 2015.		
Authors and Publishers (ASCAP)	On motion by Mrs. Gische, second accepted the report as presented.	ed by Mr. Kornreich, and carried by a 5-0-0 vote, the Board		
Resolution Abolishing Positions and Terminating	approved by the Board of Educatio	olishing positions and terminating employees position n on June 4, 2014 (attached hereto) is hereby rescinded olution is hereby replaced by the following resolution:		
Employees Having Least Seniority	RESOLVED, that the Board of Education hereby abolishes the subsequent position following Teacher job titles, for the purposes of economy and efficiency.			
Semonty	Job Title	No. of Positions		
	Health Teachers	1.9		
	Family and Consumer Science Tea	cher 0.4		
	Business Teachers Technology Teacher	0.5 0.3		
	Teaching Assistant	1.0		
		nployment of the aforementioned employees having the l be discontinued, effective July 1, 2014. The following		
	Name	Job Title		
	Cynthia Howard Ms. Howard was previously excess a 0.6 position), effective June 30, 2	0.6 Health Teacher ed at the August 27, 2013 meeting for a 0.4 reduction, (to 013.		
	Jennifer Monahan	1.0 Health Teacher		
	Kerri Kilkenny	0.3 Health Teacher		
	Chantel Pizzuto 0.4 Family & Consumer Science Teacher			
	Ms. Pizzuto was previously excess a 0.4 position), effective 6/30/12.	ed at the August 28, 2012 meeting for a 0.6 reduction, (to		

Alyssa Chesney-Gold0.5 Business TeacherMs. Chesney- Gold was previously excessed at the August 27, 2013 Board of Education<br/>meeting for a 0.1 reduction, (to a 0.9 position), effective June 30, 2013.

Derek Angermaier	0.3 Technology Teacher
------------------	------------------------

Marissa Lumley 1.0 Teaching Assistant

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 5-0-0 vote, the Board accepted the report as presented

RESOLVED, upon recommendation of the Superintendent of Schools, the Board of Education hereby approves a Stipulation of Settlement with the employee identified on Confidential Schedule "A" and authorizes the President of the Board of Education to execute the Stipulation.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 5-0-0 vote, the Board accepted the report as presented.

## Personnel Matters

Instructional

Approval of

Stipulation of Settlement

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

#### RETIREMENT

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Enco, Ellen	Arrowhead Elementary/	6/30/14	2/11/04
	Paraprofessional		

Ms. Enco is eligible for the Terminal Allowance as per Article IV of the 2012-2016 agreement between the Three Village BOE and the Three Village Paraprofessional/Teaching Assistant addendum to the TVTA contract.

#### RESIGNATIONS

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
James Williams	Arrowhead/Elementary	7/3/14	9/1/98
Stephen Malusa	Assistant Principal Ward Melville High School/Teacher	6/30/14	9/1/02

## LEAVES OF ABSENCE

<u>Name</u>	School/Assignment	Effective	<u>Reason</u>	<u>Tenured</u>
Gold, Paul	Gelinas JHS/	2014-2015	Unpaid	Yes
	Assistant Principal			

#### APPOINTMENT TO ADMINISTRATIVE POSITION

Gold, Paul

K-12 Director of Social Studies SUNY Purchase – BA Dowling College – MS Dowling College - Ed.D Salary: \$134,063 + \$2,000 stipend Effective: 7/1/14

This is a three year probationary appointment with tenure due 7/1/17. This appointment is due to administration restructure. Dr. Gold will be assigned to the North Country Administration Center for the 2014-15 school year. Fingerprint clearance for employment is on file.

## APPOINTMENT TO INSTRUCTIONAL POSITIONS

Trintini, Christine

Registered Nurse SUNY Stony Brook – BS Previous Tenure – No Related to current employee – No Salary Step/Level – 3/NURSE Effective – 8/1/14

This is a full-time appointment. This appointment is due to the retirement of Donna O'Brien. Ms. Trentini will be assigned to Murphy Junior High School for the 2014-15 school year. Fingerprint clearance for employment has been received.

### APPOINTMENT TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

### Substitute Teachers:

<u>Dollard, Samantha</u> Fingerprint clearance has been received.

Gallagher, Loretta

Ms. Gallagher is currently an SEA at Minnesauke. Ms. Gallagher has requested to be put on our substitute teacher list so she is able to provide homebound instruction. Fingerprint clearance is on file.

<u>Gobetz, Brianna</u> Fingerprint clearance has been received.

Herrmann, Lorin Ms. Herrmann was a teacher for our district from November of 2005 until being excessed in June of 2013. Fingerprint clearance is on file.

James, Maxwell Fingerprint clearance has been received.

## APPOINTMENTS OF CO-CURRICULAR SPONSORS

#### Co-Curricular Clubs

Goldwasser	Joyce	Nassakeag	Justice Club - Prorated	2013-2014	\$101.00
			January/February		

\*Ms. Goldwasser was previously approved on 10/23/14 for a full year stipend for Justice Club. Ms. Goldwasser had surgery in February and was not able to return to work until after the club was over. Ms. Tietjen took over her Justice Club responsibilities from March through May.

Tietjen	Cindy	Nassakeag	Justice Club - Prorated	2013-2014	\$252.50
			March - May		

## APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

## Lead Teachers

DiPrimo

Dattero	Anthony	Gelinas	Lead Guidance	2014-2015	\$4,540.00	Stipend
Connolly	Erin	Murphy	Lead Guidance	2014-2015	\$3,568.00	Stipend
Jenkins	Nancy	Gelinas	Lead Family & Consumer Science	2014-2015	\$4,540.00	Stipend
Knox	Betsy	District Wide	Lead Librarian	2014-2015	\$2,596.00	Stipend
Pimentel	Laura	Admin	Special Education Instruction Data Specialist	2014-2015	\$3,568.00	Stipend
Lynch	Mary	North Ctry	Lead Psychologist	2014-2015	\$3,568.00	Stipend
Auperlee	Susan	Elementary Schools	Elementary Music Lead	2014-2015	\$3,241.00	Stipend
Pollera	Anthony	Gelinas/Murp hy	Junior High Music Lead	2014-2015	\$2,596.00	Stipend
Contino	Linda	WMHS	High School Music Lead	2014-2015	\$2,596.00	Stipend
Stipends						

Brigit District Wide Kindergarten Screening 5/1/14 – \$1,500.00 Stipend Elementary Coordinator 6/30/14

## APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	<u>Building</u>	Assignment	Effective	Rate	Hours	<u>Not to</u> Exceed
AIS Services							
Boltrek	Chris	WMHS	AIS June Regents Review Classes (SS)	May/Jun 2014	\$52.69	2	\$105.38
Tam	Aaron	WMHS	AIS June Regents Review Classes (Math)	May/Jun 2014	\$52.69	3	\$158.07

v	Vhitman	Juliane	WMHS	AIS June Regen Review Classes		May/Jun 2014	\$52.69	3	\$158.07
Т	Samadon	Arta	WMHS	(Math) AIS June Regen Review Classes		May/Jun 2014	\$52.69	3	\$158.07
Ε	Dillon	Christine	WMHS	(Math) AIS June Regen Review Classes		May/Jun 2014	\$52.69	3	\$158.07
F	Fyfe	Matt	WMHS	(Math) AIS June Regen Review Classes		May/Jun 2014	\$52.69	3	\$158.07
Т	<b>`</b> aborsky	Cheryl	WMHS	(Math) AIS June Regen Review Classes		May/Jun 2014	\$52.69	3	\$158.07
C	Canestro	Andrea	WMHS	(Math) AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
Т	<sup>°</sup> erebetski	Marybeth	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
S	schwartz	Ellen	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
C	Campagnola	Aimee	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
C	Campau	Andrea	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
F	Ferraro	Mariangela	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
R	Robertson	Barbara	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
Ε	Dunbar	Kristin	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
A	Ambrose	Don	WMHS	AIS June Regen Review Classes (Math)		May/Jun 2014	\$52.69	3	\$158.07
N	Muller	Gisela	WMHS	AIS June Regen Review Classes (GL)		May/Jun 2014	\$52.69	1	\$52.69
C	Chaperone/Sup	ervision							
C	Chesney- Gold	Alyssa	WMHS	FBLA State Conference		4/9/14, 4/10/14	\$150/ day		\$300.00
١	/onnes	Carol	WMHS	FBLA State Conference		4/9/14, 4/10/14	\$150 /day		\$300.00
	Chesney- Gold	Alyssa	WMHS	FBLA National Conference		6/29 - 7/3/14	\$150 /night \$300/ Day		\$2,100.00
Po	rtion being pa	id from (Kevin	Scanlon's) bud	get code: A2070	15021	959	Day		
١	/onnes	Carol	WMHS		6/29 - 7/3/14	4 г	6150/ night 6300/	\$2,1	00.00
Po	rtion being pa	id from (Kevin	Scanlon's) bud	get code: A2070.	15021	C	lay		
E	Barrett	Linda	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68
E	Bergson	Linda	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68
E	Boltrek	Christopher	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68
C	Cereola	Vincent	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68
Ε	Dinkel	Allison	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68
	Owyer	Alexander	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
	Ferraro	Kurt	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
	Flynn Seldberre	Maureen	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
	Goldberg	Annette	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
	Brimmer Jurley	Patti	WMHS	Graduation		29/14	\$40.48 \$40.48	10 3 5	\$404.80 \$141.68
	Iurley Kraemer	Terri Dianne	WMHS WMHS	Graduation Graduation		29/14 29/14	\$40.48 \$40.48	3.5 3.5	\$141.68 \$141.68
	Lumley	Marissa	WMHS WMHS	Graduation		29/14 29/14	\$40.48 \$40.48	3.5 3.5	\$141.68 \$141.68
	Jumley Aarkey	Dorothy	WMHS WMHS	Graduation		29/14 29/14	\$40.48 \$40.48	3.5 10	\$141.68 \$404.48
	AcCaffrey	Virginia	WMHS	Graduation		29/14	\$40.48 \$40.48	3.5	\$404.48 \$141.68
	Aetcalf	Marilyn	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
	Aintz	Barbara	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
Ν	Airabella	Christine	WMHS	Graduation		29/14	\$40.48	3.5	\$141.68
Ν	Aoran	Katherine	WMHS	Graduation	06/2	29/14	\$40.48	3.5	\$141.68

Morrison	Kimberly	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Muller	Gisella	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Negus	Jay	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Pryor	Lisa	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Rogers	Steve	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Sandolo	John	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Schnitzer	Alaina	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Sheppard	Jennifer	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Sheriden	Jim	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Spira	Robert	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Stiegelmaier	Laura	WMHS	Graduation	06/29/14	\$40.48	8	\$323.84
Stringer	Megan	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Watson	Shannon	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Weganaar	Nancy	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Weisman	Cortney	WMHS	Graduation	06/29/14	\$40.48	3.5	\$141.68
Williams	John	WMHS	Graduation	6/29/2014	\$40.48	3.5	\$141.68
Anderson	Phoebe	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Barrett	Linda	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Buhler	Laura	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Chimienti	Jennifer	WMHS	Senior Prom	06/26/14	\$40.48	8	\$323.84
Corbett	Janine	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Dietz	Kristen	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
DiLorenzo	Stephanie	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Dion	Jean Pierre	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Dornicik	James	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Ferraro	Kurt	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Florio	Christina	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Flynn	Maureen	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Hannifin	Danielle	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Heck	Jeffrey	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Kettler	Todd	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Kraemer	Dianne	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Lydon	Joyce	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
McCaffrey	Virginia	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Muller	Gisela	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Murphy	Christopher	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Muscarella	Ronald	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Negus	Jay	WMHS	Senior Prom	06/26/14	\$40.48	8	\$323.84
Polak	Jason	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Rogers	Steve	WMHS	Senior Prom	06/26/14	\$40.48	8	\$323.84
Vonnes	Carol	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Watson	Shannon	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Weisman	Cortney	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
Williams	John	WMHS	Senior Prom	06/26/14	\$40.48	8	\$323.84
Wilson	Robert	WMHS	Senior Prom	06/26/14	\$40.48	6	\$242.88
	1000011		561101 11011	00,20,11	<i><i><i></i></i></i>	0	\$ <b>2</b> 12100
<u>Music</u>							
Lopinto	Philip	District-	Various	2014-	Accom-	6 Concerts	\$3,600.00
		Wide	District Concerts and	2015	panist Rate for out of	& Rehearsals	
			Rehearsals		district	reneursuis	
т		D' ( ' (	<b>X</b> 7 ·	2014	vendor	20	¢ < 0.0 0.0
Trump	Carol	District- Wide	Various District	2014- 2015	Accom- panist Rate	2 Concerts &	\$600.00
-					for out of	Rehearsals	
-			Concerts and				
-			Rehearsals		district		
Waxenburg	Mariorie	District-	Rehearsals	2014-	vendor	2 Concerts	\$600.00
Waxenburg	Marjorie	District- Wide		2014- 2015		2 Concerts &	\$600.00
Waxenburg	Marjorie		Rehearsals Various District Concerts and		vendor Accom- panist Rate for out of		\$600.00
Waxenburg	Marjorie		Rehearsals Various District		vendor Accom- panist Rate	&	\$600.00
-	Marjorie Jeffrey		Rehearsals Various District Concerts and		vendor Accom- panist Rate for out of district	&	\$600.00 \$600.00
-		Wide	Rehearsals Various District Concerts and Rehearsals Various District	2015	vendor Accom- panist Rate for out of district vendor Accom- panist Rate	& Rehearsals 2 Concerts &	
-		Wide District-	Rehearsals Various District Concerts and Rehearsals Various District Concerts and	2015 2014-	vendor Accom- panist Rate for out of district vendor Accom-	& Rehearsals 2 Concerts	
Marcus	Jeffrey	Wide District- Wide	Rehearsals Various District Concerts and Rehearsals Various District Concerts and Rehearsals	2015 2014- 2015	vendor Accom- panist Rate for out of district vendor Accom- panist Rate for out of district vendor	& Rehearsals 2 Concerts & Rehearsals	\$600.00
Lisanti-		Wide District- Wide District-	Rehearsals Various District Concerts and Rehearsals Various District Concerts and Rehearsals Various	2015 2014- 2015 2014-	vendor Accom- panist Rate for out of district vendor Accom- panist Rate for out of district vendor Accom-	& Rehearsals 2 Concerts & Rehearsals 2 Concerts	
Marcus Lisanti-	Jeffrey	Wide District- Wide	Rehearsals Various District Concerts and Rehearsals Various District Concerts and Rehearsals	2015 2014- 2015	vendor Accom- panist Rate for out of district vendor Accom- panist Rate for out of district vendor	& Rehearsals 2 Concerts & Rehearsals	\$600.00
Waxenburg Marcus Lisanti- Levy	Jeffrey	Wide District- Wide District-	Rehearsals Various District Concerts and Rehearsals Various District Concerts and Rehearsals Various District	2015 2014- 2015 2014-	vendor Accom- panist Rate for out of district vendor Accom- panist Rate for out of district vendor Accom- panist Rate	& Rehearsals 2 Concerts & Rehearsals 2 Concerts &	\$600.00

## Home Tutoring

Baumann	Matthew	WMHS	Home Tutoring	4/21,4/23, 4/24	\$44.26	6.0	\$265.56
Boltrek	Chris	WMHS	Home Tutoring	4/24 4/3,4/15, 4/17,4/24, 4/30, 5/2, 5/16, 5/22, 5/29	\$44.26	17.0	\$752.42
DaVanzo	Matthew	Setauket	Home Tutoring	4/29,4/30, 5/1,5/6, 5/7,5/8, 5/13, 5/14, 5/20, 5/21, 5/22	\$44.26	18.0	\$796.68
Etheridge	Terri	WMHS	Home Tutoring	4/9, 4/23, 5/7, 5/14, 5/21	\$44.26	10.00	\$442.60
Roarty <u>Book</u> Leveling	Karen	Academy	Home Tutoring	4/30, 5/2	\$44.26	2.0	\$88.52
Knox	Betsy	All Elementary Schools	Librarian - Book Room Leveling	4/7/14 - 5/13/14	\$45.56/hr	1.25 hr	\$56.95

\*\*\* The above hours were needed in addition to the 60 that were originally recommended on 1/8/2014.

# APPOINTMENTS OF SUMMER ASSIGNMENTS

Last Name	<u>First Name</u>	<b>Building</b>	Assignment	Effective	<u>Rate</u>	<u>Not to</u> Exceed	
Summer Enrich	<u>iment</u>						
McNamara	Lisa	Nassakeag	Assistant	7/1/14 -	\$ 15/hr	\$750.00	
Aklon	Patty	Nassakeag	Assistant	7/11/14 7/1/14 - 7/11/14	\$ 15/hr	\$750.00	
Summer Reading							
Brady	Judy	District-Wide Elementary Schools	English Language Arts Program Coordinator Summer Reading	7/7/14- 8/1/14	\$5,000.00	\$5,000.00	
Summer ESY F	rogram						
Keane	Corrine	Arrowhead	ESY Program -	7/1/14 -	\$275 per	Teacher	
(Connors) Schuchman	Patricia	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$275 per	Teacher	
Maxwell	James	Arrowhead	2014 ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	diem \$ 15.50/hr	ТА	
ESY Substitute	List						
Booker	Karen	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher	
Lage-Macari	Christina	Arrowhead	ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 275 per diem	Teacher	
Levy	Zachary	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 13.57/hr	TA	
Muzzonigro	Michele	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher	
Muzzonigro	Michele	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 13.57/hr	TA	
Prestia	Krista	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 13.57/hr	TA	
Reinhart- Fitzpatrick	Kristine	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 13.57/hr	TA	
Scheider	Kerry	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher	
Schreiber- Cross	Stacey	Arrowhead	ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 13.57/hr	TA	
Walsh	Jennifer	Arrowhead	ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 13.57/hr	ТА	

#### Summer Readiness Program

Campau	Andrea	WMHS	Algebra 2/Trigonometry Summer Readiness Program	7/21/14 - 8/8/14	\$ 53.74/hr	\$1,289.76
Dunbar	Kristen	WMHS	Algebra 2/Trigonometry Summer Readiness Program	7/21/14 - 8/8/14	\$ 53.74/hr	\$1,289.76
Schnettler <u>PPS Summer S</u>	Garrett	PJG	Algebra 2/Trigonometry Summer Readiness Program	7/21/14 - 8/8/14	\$ 53.74/hr	\$1,289.76

Total Pay Guidance Staff - not to exceed \$ 45,000

Total Pay Special Education Staff: ALC/RR Teachers and general education teachers who sit on a CSE meeting - not to exceed \$20,000

Total Pay Instructional Consultants - not to exceed \$ 10,000

Total Pay Speech Teachers - not to exceed \$ 10,000

Total Pay ESL Teachers - not to exceed \$ 1,500

Total Pay Psychologists - not to exceed \$ 16,000

Total Pay Social Workers - not to exceed \$ 300

#### Coordinating Chairpersons for Special Education

Fore	Patricia
Mason	Dawn

## Guidance Coordinating Chairperson

Bergson Linda

## Guidance Counselors Dattero Anthor

Dattero	Anthony
Treder	Brian
McGaley	Kevin
Eberle	Russell
Connolly	Erin
Poulos	Amy
Zeller	Joan
Diehl	John
Mirabella	Christine
Anziano	Erin
Levenson	Steve
Sheppard	Jennifer
Larson	Allison
Olsen	Walter
Sheridan	James
LoGiudice	Keri
Jentzen	Leah

## Psychologists

Psychologists	
Lynch	Mary
Salas	Heather
Rebore	Lauren
Futtersak	Karen
Deeg	Christopher
Lambert	Michelle
Marino	Laurance
Portal-Pfeffer	Lolita
McCabe-	Kelly
Fitch Salazar	Jose

## Social Workers

Gregory	Glenda
Lennon	Sherrill
Roberts	Pamela
Johnston	Debbie
Rakowsky	Debbi
Virga	Michelle

Forgione	Judy
Speech Teacher	<u>rs</u>
Campo	Angela
DeMarco	Marisa
Kriegel	Lisa
Peters	Toni
Washington	Nicole
Blumenthal	Theresa
Heck	Melissa
Farbiarz	Lynn
Levenberg	Lauri
Broome	Tara
Beer	Donna
McCrave	Terri
Juvet	Tracey
Gonzalez	Mary
Woods	Sandy
Rimmer	Kerri Ann
Sementilli	Angela
Carey	Robin
Shea	Jennifer
ESL	
Teachers Aston	Monica
Dawkins	Gail
Brussee	Erin
Drussee	EUU

We are also requesting that all general and special ed teachers be appointed as substitutes during the summer in order to attend CSE and CPSE meetings in July and August.

On motion by Mr. Connors, seconded by Ms. Bavlnka, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

*Non-Instructional* Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

## RETIREMENTS NON-INSTRUCTIONAL STAFF

Name	School/Assignment	Effective <u>Date</u>	Years of <u>Service</u>			
Feliciano, Luz	Setauket Elementary School Special Education Aide	/ 6//30/14	14 yrs. 8 mo.			
Saputo, Lois	Arrowhead Elementary Scho Monitor/Bus Monitor	ol / 6/30/14	32 yrs. 4 mo.			
Tamburello, Joan	Minnesauke Elementary Scho Monitor	ool / 6/27/14	25 yrs.			
RESIGNATIONS NON-INSTRUCTIONAL STAFF						
Name	School/Assignment	Effective Date	<u>Length of</u> Service			
Balducci, Lisa	Arrowhead Elementary School	6/30/14	7 mo			
Pinzon, Denisse	Nassakeag ES SACC Program/Child Care Assistant	6/30/14	8 mo			

## TERMINATION NON-INSTRUCTIONAL STAFF

Name	School/Assignment	<b>Effective</b>
Keefe II, Donald	Gelinas Junior High School/	6/19/14
	Custodial Worker	

## CHANGES OF STATUS NON-INSTRUCTIONAL STAFF

#### School-Aged Child Care (SACC)

Mundy, Christine

From: Special Education Aide (max 10 hrs/week) To: Child Care Assistant (max 10 hrs/week) Setauket Elementary School Salary - \$13.40 hourly Effective – September 1, 2014

#### APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Balducci, Lisa	Salary-\$11.42/hr.
	Effective-9/02/14
Fingerprinting clearance has been received and is on	file.

Korman, Rosemary	Salary-\$11.42/hr. Effective-6/19/14
Fingerprinting clearance has been received and is on	file.
Monitors/Special Education Aides	

 Balducci, Lisa
 Salary-\$11.42/hr.

 Effective-9/02/14

 Fingerprinting clearance has been received and is on file.

 Feliciano, Luz
 Salary-\$11.42/hr.

 Effective-9/02/14

 Fingerprinting clearance has been received and is on file.

Hunter, Lauren Salary-\$11.42/hr. Effective-6/19/14

Ms. Hunter is the daughter of Kathryn Hunter, a teacher at Minnesauke Elementary and sister of Elizabeth Hunter, a substitute monitor/SEA in the district. Fingerprinting clearance has been received and is on file.

## APPOINTMENT OF HOURLY EXTRA ASSIGNMENT

<u>Last</u> Name	<u>First</u> Name	<u>Building</u>	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	<u>Not to</u> Exceed
Wiberly	Donna	All Elementary Schools	Clerical - Book Room Leveling	5/10/14 - 5/13/14	\$44.46	16.0	\$711.36

\*\*\*The above hours were needed in addition to the 6.5 that were originally recommended on 4/9/2014.

### APPOINTMENTS TO COMMUNITY SWIM PROGRAM/ ATHLETICS STAFF

Name	Position	Hourly	Rate

Caracci. VictoriaLifeguard\$10.20Ms. Caracci is a WMHS student and as such, fingerprinting is not needed.

Gordon, MackenzieLifeguard\$10.20Mr. Gordon is a WMHS student and as such, fingerprinting is not needed.

Miller, HarryLifeguard\$10.20Mr. Miller is a Murphy JHS student and as such, fingerprinting is not needed.

Riddle, MelissaLifeguard\$10.20Ms. Riddle is a WMHS student and as such, fingerprinting is not needed.

# APPOINTMENTS OF RETURNING COMMUNITY SWIM PROGRAM EMPLOYEES

Last Name	First Name	<u>Building</u>	Assignment	Effective	Hourly Rate
Allen	Dana	WMHS	WSI	7/1/14	\$13.44
Allen	Susan	WMHS	WSI	7/1/14	\$15.71
Brandow	Patrick	WMHS	WSI	7/1/14	\$14.59
Broadbent	Charlotte	WMHS	WSI	7/1/14	\$13.44
Chernoff	Daniella	WMHS	LG	7/1/14	\$10.20
Dion	John-Pierre	WMHS	SUPERVISION	7/1/14	\$31.62
Fabrizio	Declan	WMHS	LG	7/1/14	\$10.20
Ferrara	Caitlin	WMHS	SUPERVISION	7/1/14	\$31.62
Gergen	Emily	WMHS	WSI & SUPERVISION	7/1/14	\$18.33/\$31.62
Matz	Elizabeth	WMHS	WSI	7/1/14	\$13.44
McDermott	Carissa	WMHS	WSI	7/1/14	\$16.07
McDermott	Julia	WMHS	LG	7/1/14	\$13.44
Parbst	Hanna	WMHS	LG	7/1/14	\$10.20
Rachek	Christopher	WMHS	LG	7/1/14	\$10.20
Roberts	Daniel	WMHS	LG	7/1/14	\$10.20
Saggio	Sarah	WMHS	WSI	7/1/14	\$13.44
Saggio	Victoria	WMHS	WSI	7/1/14	\$13.44

## APPOINTMENTS OF SUMMER RECREATION STAFF 2014-2015

Last Name	First Name	<u>Building</u>	Assignment	Effective	Rate	
Returning Emp	<u>oloyees</u>					
Arbour	Jay	WM	Summer Recreation	7/1/2014	\$10.71	
Arcuri	Thomas	WM	Summer Recreation	7/1/2014	\$10.71	
Ausset	Alison	WM	Summer Recreation	7/1/2014	\$11.29	
Baker	Raine Keegan	WM	Summer Recreation	7/1/2014	\$13.54	
Basso	Raymond	WM	Summer Recreation	7/1/2014	\$13.54	
Baum	Camryn	WM	Summer Recreation	7/1/2014	\$11.29	
Beneliyahu	Jordan	WM	Summer Recreation	7/1/2014	\$11.87	
Blaney	Deryn	WM	Summer Recreation	7/1/2014	\$10.71	
Blunt	Haley	WM	Summer Recreation	7/1/2014	\$10.71	
Cain	Helen	WM	Summer Recreation	7/1/2014	\$13.50	
Caselli	Alexa	WM	Summer Recreation	7/1/2014	\$10.71	
Caselli	Lauren	WM	Summer Recreation	7/1/2014	\$11.87	
Chimienti	Jennifer	WM	Summer Recreation	7/1/2014	\$20.00	
Corrie	Michael	WM	Summer Recreation	7/1/2014	\$10.71	
Cottone	Sarah	WM	Summer Recreation	7/1/2014	\$10.71	
Dion	Jean-Pierre	WM	Summer Recreation	7/1/2014	\$25.69	Travel Camp Supervisor
Doherty	Christine	WM	Summer Recreation	7/1/2014	\$14.70	
Driscoll	Christina	WM	Summer Recreation	7/1/2014	\$37.50	Full & Half Day Camp Director
Edwards	Nellie	WM	Summer Recreation	7/1/2014	\$11.87	
Fox	Amanda	WM	Summer Recreation	7/1/2014	\$11.87	
Gonsalves	Diana	WM	Summer Recreation	7/1/2014	\$10.71	
Governale	Morgan	WM	Summer Recreation	7/1/2014	\$10.71	
Governale	Danielle	WM	Summer Recreation	7/1/2014	\$11.29	
Gulino	Michelle	WM	Summer Recreation	7/1/2014	\$14.11	
Hazell	Amanda	WM	Summer Recreation	7/1/2014	\$10.71	
Hurley	Richard	WM	Summer Recreation	7/1/2014	\$11.29	
Isaksen	Kristofer	WM	Summer Recreation	7/1/2014	\$13.54	
Kocka	Brieanne	WM	Summer Recreation	7/1/2014	\$11.87	

Page 15 of 19

Lahti	Brendan	WM	Summer	7/1/2014	\$11.29	
Lee	Robert	WM	Recreation Summer	7/1/2014	\$10.71	
Levanti	Lauren	WM	Recreation Summer	7/1/2014	\$10.71	
Lorusso	Matthew	WM	Recreation Summer	7/1/2014	\$10.71	
			Recreation			
Marinus	Patricia	WM	Summer Recreation	7/1/2014	\$13.50	
McKaney	Charles	WM	Summer Recreation	7/1/2014	\$21.12	Travel Camp Counselor
McKeever	Kevin	WM	Summer Recreation	7/1/2014	\$10.71	
McKenna	Kelsey	WM	Summer	7/1/2014	\$10.71	
Miller	Michael	WM	Recreation Summer	7/1/2014	\$10.71	
Mollergren	Kaitlyn	WM	Recreation Summer	7/1/2014	\$11.29	
Mulligan	Olivia	WM	Recreation Summer	7/1/2014	\$11.29	
Munisteri			Recreation			
	Philip	WM	Summer Recreation	7/1/2014	\$10.71	
Murphy	Robert	WM	Summer Recreation	7/1/2014	\$21.12	Travel Camp Counselor
Narus	Lauriane	WM	Summer Recreation	7/1/2014	\$12.70	
Naslonski	Kevin	WM	Summer Recreation	7/1/2014	\$11.29	
O'Hea	Caroline	WM	Summer	7/1/2014	\$10.71	
Padrazo	Anthony	WM	Recreation Summer	7/1/2014	\$10.71	
Pinard	Allison	WM	Recreation Summer	7/1/2014	\$11.87	
Rahner	Emilee	WM	Recreation Summer	7/1/2014	\$11.87	
Rezende	Tiffany	WM	Recreation Summer	7/1/2014	\$11.29	
Roddin	Christine	WM	Recreation	7/1/2014	\$13.54	
			Recreation			
Rosa	David	WM	Summer Recreation	7/1/2014	\$11.87	
Rosa	Stephen	WM	Summer Recreation	7/1/2014	\$14.70	
Rosett	Loretta	WM	Summer Recreation	7/1/2014	\$20.00	Nurse
Salerno	Ashleigh	WM	Summer Recreation	7/1/2014	\$10.71	
Schnebel	Katie	WM	Summer Recreation	7/1/2014	\$11.29	
Schwartz	Jonathan	WM	Summer	7/1/2014	\$21.12	Travel Camp Counselor
Scott	Jonathan	WM	Recreation Summer	7/1/2014	\$25.69	Travel Camp
Shay	Stephanie	WM	Recreation Summer	7/1/2014	\$10.71	Supervisor
Singleton	Lindsey	WM	Recreation Summer	7/1/2014	\$10.71	
Smith	Jennifer M.	WM	Recreation Summer	7/1/2014	\$11.87	
Smith	Jennifer T.	WM	Recreation Summer	7/1/2014	\$11.29	
			Recreation			
Steinmuller	Eric	WM	Summer Recreation	7/1/2014	\$10.71	
Stiles	Adam	WM	Summer Recreation	7/1/2014	\$21.12	
Sullivan	Ryan	WM	Summer Recreation	7/1/2014	\$11.29	
Swart	Melissa	WM	Summer Recreation	7/1/2014	\$21.12	Travel Camp Counselor
Tirelli	Taylor	WM	Summer Recreation	7/1/2014	\$10.71	
Tirelli	Andrew	WM	Summer Recreation	7/1/2014	\$10.71	
Ulrich	Brad	WM	Summer	7/1/2014	\$11.87	
Vilceus	Lemuel	WM	Recreation Summer	7/1/2014	\$10.71	
Vitberg	Zehava	WM	Recreation Summer	7/1/2014	\$25.69	Full Day Camp
Von Bargen	Sarah	WM	Recreation Summer	7/1/2014	\$25.69	Supervisor Half Day Camp
Warren	Julianne	WM	Recreation Summer	7/1/2014	\$10.71	Supervisor
Warren	Jessica	WM	Recreation	7/1/2014	\$12.12	
Webster	Ashley	WM	Recreation	7/1/2014	\$12.12	
	лынсу	VV IVI	Recreation	//1/2014	φ10./1	
<u>New Hires</u> Bright	Jeanine	WM	Summer	7/1/2014	\$18.79	Travel Camp
Light	scanne	** 1*1	Recreation	,,1/2014	φ <b>10.</b> / <i>)</i>	Counselor

Brockey	Elizabeth	WM	Summer Recreation	7/1/2014	\$9.29	WMHS STUDENT	
Byrne	Elizabeth	WM	Summer Recreation	7/1/2014	\$12.12	DISTRICT EMPLOYEE	
Ms. Byrne is a	monitor/SEA subst	itute in the dis		ughter of Cyn	thia Byrne, a T	eaching Assistant at	
	mentary School.			0		0	
Caselli	Jake	WM	Summer	7/1/2014	\$9.29	WMHS STUDENT	
MC	1 4 61	1.41	Recreation		1		
Mr. Caselli is tr	he brother of Lauren	n and Alexa C	aselli, summer	recreation em	ployees.		
Diviney	Brendan	WM	Summer Recreation	7/1/2014	\$9.29	WMHS STUDENT	
Frost	Jessica	WM	Summer Recreation	7/1/2014	\$18.79	Travel Camp Counselor	
Gerlach	Alice	WM	Summer Recreation	7/1/2014	\$10.71	DISTRICT EMPLOYEE	
Grillo	Samantha	WM	Summer Recreation	7/1/2014	\$10.71		
Hughes	Erynn	WM	Summer Recreation	7/1/2014	\$9.29	WMHS STUDENT	
Hunter	Elizabeth	WM	Summer Recreation	7/1/2014	\$10.71	DISTRICT EMPLOYEE	
Hunter	Lauren	WM	Summer Recreation	7/1/2014	\$10.71	EWILLOTEE	
Ms Hunter is th	ne daughter of Kath	rvn Hunter a		nesauke Eleme	entary School a	and sister of Elizaberh	
	or/SEA sub in the		teacher at with	nesuuke Elenk	senter y Sentoor a	and sister of Elizabeth	
Kepes	Jake	WM	Summer Recreation	7/1/2014	\$10.71		
Lee	Megan	WM	Summer Recreation	7/1/2014	\$10.71		
Rastivo	Michael	WM	Summer Recreation	7/1/2014	\$10.71		
Scarfogliero	Samantha	WM	Summer Recreation	7/1/2014	\$10.71		
Schnebel	Ellen	WM	Summer	7/1/2014	\$9.29	WMHS STUDENT	
<b>M G 1 1 1</b>			Recreation				
Ms. Schnebel 18	the daughter of Lo	orraine Schnet	bel, a Teaching	Assistant at Se	etauket Elemen	itary School.	
Short	Danielle	WM	Summer Recreation	7/1/2014	\$9.29	WMHS STUDENT	
Szymanski	Alexandra	WM	Summer Recreation	7/1/2014	\$9.29	WMHS STUDENT	
Ms. Szymanski	is the daughter of l	Michelle Szyr	nanski, a Teach	ing Assistant a	at Arrowhead H	Elementary School.	
Ulrich	Thomas	WM	Summer	7/1/2014	\$9.29	WMHS STUDENT	
Recreation Mr. Ulrich is the brother of Brad Ulrich, a summer recreation employee.							
Voigt	Lindsay	WM	Summer Recreation	7/1/2014	\$10.71		
	e daughter of Felici	a Voigt, a Prin	ncipal Clerk at '	Ward			
Melville High S							
Wall	Robert	WM	Summer	7/1/2014	\$12.12	DISTRICT	
	Ibstitute monitor/SI	EA in the dist	Recreation rict and the son	of Lisa Wall,	a teacher at Set	EMPLOYEE tauket	
Elementary Sch Ward	lool. Ryan	WM	Summer	7/1/2014	\$9.29	WMHS STUDENT	
maru	ivyan	44 141	Recreation	// 1/2014	ψ).29	WINDS STUDENT	
Mr. Ward is the	son of Denise Wa	rd, a Senior C		etauket Eleme	ntary School.		
Those identified as High School Students do not require fingerprinting							

Those identified as High School Students do not require fingerprinting.

## APPOINTMENTS TO NON-INSTRUCTIONAL SUMMER RECREATION PROGRAM

Food Service Workers

Cline, Kathleen	Salary: \$24.75 per hour Effective July 1, 2014 – August 8, 2014
Mertz, Robin	Salary: \$14.47 per hour
	Effective July 1, 2014 – August 8, 2014
Ford, Michelle	On "as needed" basis
	Salary: \$14.31 per hour
	Effective July 1, 2014 – August 8, 2014
Kuhnel, Kim	On "as needed" basis
	Salary: \$15.09 per hour
	Effective July 1, 2014 – August 8, 2014

## SUMMER ESY PROGRAM APPOINTMENTS 2014

Last Name	First Name	Building	Effective	Title	Rate
Buzzanca	Courtney	Arrowhead	7/1/14- 8/11-14	SEA	\$13.50 per hour
Coleman	Abigail	Arrowhead	7/1/14- 8/11/14	SEA	\$13.50 per hour
DeRosa	Patrick	Arrowhead	7/1/14- 8/11/14	SEA	\$13.50 per hour
Meoni	John	Arrowhead	7/1/14- 8/11/14	Security	\$17.94 per hour

Ockner	Ashley	Arrowhead	7/1/14-	SEA	\$13.50 per hour				
	2	Allowicad	8/11/14	SLA	\$13.50 per nour				
<u>New Hires This Yea</u>	<u>11</u>								
Ceroni	Jenna Marie	Arrowhead	7/1/14- 8/11/14	SEA	\$13.50 per hour				
Ms. Ceroni is the sto	Ms. Ceroni is the stepdaughter of Alexandra Gallagher, a teacher at Arrowhead ES.								
Pulaski	Nick	Arrowhead	7/1/14- 8/11/14	SEA	\$13.50 per hour				
	ephew of Richard	l Pulaski, Executive Di		cousin of Jose	ph Pulaski, a teacher at				
Arrowhead ES.									
Substitute List									
Barra	Sue	Arrowhead	7/1/14-	Nurse	\$20.00 per hour				
Long	AnnMarie	Arrowhead	8/11/14 7/1/14-	Nurse	\$20.00 per hour				
8			8/11/14		+= ••• • F •• •••				
Reinhart-	Kristine	Arrowhead	7/1/14-	SEA	\$11.42 per hour				
Fitzpatrick *	<b>D</b> ' 11		8/11/14		¢11.40 1				
Renna *	Danielle	Arrowhead	7/1/14- 8/11/14	SEA	\$11.42 per hour				
* New Hire - Sub			0/11/14						
Authorized School	Bus Monitors								
Autorized School	Bus Monitors								
Alberti	Cathy		7/1/14-	Bus	\$13.50 per hour				
			8/11/14	Monitor					
Blatney	Ivana		7/1/14-	Bus Monitor	\$13.50 per hour				
Blekicki	Nancy		8/11/14 7/1/14-	Bus	\$13.50 per hour				
Diekieki	i vane y		8/11/14	Monitor	\$15.50 per nour				
Cesare-Cardlin	Phyllis		7/1/14-	Bus	\$13.50 per hour				
	-		8/11/14	Monitor	*				
Degamon	Jessica		7/1/14-	Bus	\$13.50 per hour				
Drosselmeier	Theresa		8/11/14 7/1/14-	Monitor Bus	\$13.50 per hour				
Drobbennerer	moresu		8/11/14	Monitor	¢rolo o per nour				
Gresch	Maureen		7/1/14-	Bus	\$13.50 per hour				
			8/11/14	Monitor	¢10.50 1				
Haff	Nicole		7/1/14- 8/11/14	Bus Monitor	\$13.50 per hour				
Iannotto	Kim		7/1/14-	Bus	\$13.50 per hour				
			8/11/14	Monitor	, the <b>r</b>				
Novok	Eileen		7/1/14-	Bus	\$13.50 per hour				
Patterson	Debra		8/11/14 7/1/14-	Monitor Bus	\$13.50 per hour				
1 atterson	Debla		8/11/14	Monitor	\$15.50 per nour				
Portuallo	Jean		7/1/14-	Bus	\$13.50 per hour				
<b>G</b>	<b>.</b> .		8/11/14	Monitor	¢10.50 1				
Saputo	Lois		7/1/14- 8/11/14	Bus Monitor	\$13.50 per hour				
Shecter	Susan		7/1/14-	Bus	\$13.50 per hour				
			8/11/14	Monitor	-				
Stursburg	Cathy		7/1/14-	Bus	\$13.50 per hour				
Wegenaar	Nancy		8/11/14 7/1/14-	Monitor Bus	\$13.50 per hour				
	i tune y		8/11/14	Monitor	\$15.50 per nour				
Yasson	Carol		7/1/14-	Bus	\$13.50 per hour				
7			8/11/14	Monitor	¢12.50 1				
Zager	Cherie		7/1/14- 8/11/14	Bus Monitor	\$13.50 per hour				
			0/11/14	wontor					

On motion by Mr. Kornreich, seconded by Ms. Bavlnka, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 5-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: March 7, 11, April 10, 23, 28, 29, May 2, 6, 7, 8, 9, 12, 13, 14,15, 16, 19, 20, 21, 22, 29, June 2 and 6, 2014

Recommendations of Committee on Preschool Special Education Meetings of: May 13, 14, 20, 22, 29, June 2, and 4, 2014 OTHER ITEMS<br/>OF INTERESTMs. Bavlnka reported on Music in the Park and upcoming end of year events.PUBLIC<br/>PARTICIPATIONThere was no Public Participation at this time.ADJOURNMENTThere being no further business to be conducted, motion was made by Mr. Connors, seconded<br/>by Mr. Kornreich, and carried by a 5-0-0 vote to adjourn the meeting at 8:59 pm.

Respectfully submitted,

Kathleen Sampogna District Clerk